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MEC-001 : MICRO ECONOMIC ANALYSIS

Time : 3 hours Maximum Marks : 100
Note : Attempt questions from each section as directed.

SECTION - A
Answer any two questions from this section : 2x20=40
1. (i) What is the basic device through which
Walras” Law is proved ? Discuss how
would you use it to prove the Walras’ Law.
(i) Anita’s utility function is given as
UA(F,L) = L and John's utlity function is
given as UJ(F,L) = F. If Anita’s initial
endowment is 70 units of F and 35 units of
of L ; and John’s initial endowment is 42
units of F and 70 units of L, show that an
allocation of F and L in an Edgeworth box
for Anita and John will be Pareto optimal
only if it is at a corner.

2. Assume that an industry has two firms supplying a
product. The market demand is given as P = 30-Q,
where Q = Q,+Q, and Q, = Q,." If the average cost
(AC) = the marginal cost (MC) = 12, find the
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Cournot equilibrium. Compare this solution with

equilibrium under perfect competition and

monopoly

3. ()

(id)

Discuss the problems arising due to hidden
action and hidden information.

Consider a market where 100 persons want
to sell their used cars. These cars are of
two types, good and bad qualities. It is
known that only half of the cars are of good
quality. The owner of a bad car is willing to
sell it for Rs. 50,000 while the owner of a
good car wants to get at least Rs 100,000.
The buyers are willing to pay minimum Rs
60,000 for bad cars and Rs. 110,000 for good
cars. In this market, however, only owner
knows whether the car is of good or bad
quality. If the buyer is willing to pay the
expected value of a car, work out the

equilibrium outcomes in this market.

Suppose that individual i has utility of the form

U,(x;+v4(G)) i =1,2. Show that the optimal
provision of the public good will be independent

of the optimal allocation of private good.
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SECTION - B

Answer any five questions from this section.

5x12=60

5. Consider a Iottery with three possible outcomes :

00501

()
(i)

()

Rs. 100 will be received with probability 0.1 ;
Rs. 50 will be received with probability 0.2,
Rs. 10 will be received with probability 0.7

What is the expected pay off of the lottery ?

What would a risk neutral person pay to
play the lottery ?

Suppose an individual has VNM utility

function u(y) = VY. What would she pay
to play the lottery ?

6.  Consider the following game :

©.1)
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i Can you apply backward induction in this
you apply
game to find a solution ?

(i) How many subgames are there in this game ?

(i) Compute the subgame perfect equilibrium
of this game.

7.  You are given a hypothetical consumer with two
period time horizon. His utility function is known
to be U = C,C, while his actual and expected
consumption expenditures are determined by
incomes in the two time periods, Y; = Rs 10,000
and Y, = Rs 5250. Find his optimal consumption
expenditures if the prevailing interest rate is 5%
per period and there is no permanent savings.

8. (a) Whatdo you understand by indirect utility
function ?

(b) Examine if V(py, pp, Y)

Y
P, +2p,p, +P2

is an indirect utility function. Give reasons in
support of your answer.
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9. A perfectly discriminating monopolist faces a
linear demand curve :
p = 100—4q. Her total cost is a linear function
of her output level and given as C = 50+ 20q.
Determine the equilibrium quantity of output and
profit of this monopolist. Compare these values
with those if the monopolist were notin a position

to practice discrimination.

10. Consider the following function
y = f(x;a) = a2+ x— ax?2 where a>0 is a
parameter. Use the envelope theorem to find

% - How does this theorem allow you to simplify

your calculation ?

11. You are given the production function
f(x1, x5) =min (x;,x,)* . Find the input demand
functions x;(PW;, W,, o), 25(p, Wy, W,, a); the
supply function y(P,W;, W,, a) and profit
function (P, W, W,, a).

12. Differentiate between (any two) :
(a) Pareto’s and Rawl’s Welfare formulations.

(b) Revenue maximisation and Profit maximisation
rationale.
()  Merit goods and Public goods.
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Tu.g.w.-001

TH.T. (rdfyme )

CEIGIRC L
faa=w, 2010
T HN.-001 : gaw refymer fayersor
9ET : 3 yU2 YFTT HF : 100

FAe:  FEF YT F [HEIFER T F IR ST

' WIT-a% :
39 9 9 faad g v % S @fs 2x20=40

1. () U =FE gREt gl (device) & e mrem
Q aerE & Fram # fag fean s &2 ==t
FifsTe foF 3 amerE & frem 1 fag w3 g
THH TAT HQ w1 ?

@) a1 ST weM UAFL) = L § ok
it o1 ST W UN(E,L) = F &1 afg sifimr
&t WRA FAfY (endowment), F %1 70 gersal
3R L #} 35 ghreal ok Wi 9 wifves fify, F
T 42 TEAT 3R L Y 70 Tl € o quiEw
for arfrar oiR S % fow Aol st &, F ol
L =1 sTreied, N2 30 (optimal) 81, afk 7
FECRE
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2. W ot i e wEm A @ wE ¥ S SR
ST et &1 SR i €, P=30-Q, SRIQ=Q;+Q,
Rk Q=Q, ¥ afk siwa A (AC) = HiHid T
(MC) =12 8 At 1 HIe 1 Tal TET | T T
H qer, ot wiEfi SR TR % fara Hger
(equilibrium) ¥ FFT

3. (i)

(i)

Wm(acﬁon)aﬁ'{mﬁimﬁw
e FEEEl bt == HeT

firet W oW W fER AT SRl 100 @
A A FR B FgH e APD
TR F T ol o=t @ wud R sl a®
T e oot wR A o f R TR 1 ¥
TS R H AfAH ST FR 50,000 F. i
AT TTEd & Sl el R ol Hiferh 19T
FR ¥ fau %0 ¥ FH 1,00,000 & F< KA
HRar S | el TUEER GO SR & fell =
60,000 . 3N =St wRi & faT 1,10,000 .
371 F F TogE €1 39 I H, griten, T

| e & SR % o/ I @09 81 & 9n |
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4. TR ifwe f& fedt safem i &1 swFfima
U, (x+vi(G)), 1=1,2 ¥R &I 8, Tu0is¢ & s
T H T wEuF, Feit avg & spaw sweied §
L=GERSU
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u - @

W 9T Q faRl g Yl & S| S 5x12=60
5. @ dwifers aRomml & Y, Rt dlelt R faaR wifsT

wifeRet 0.1 % 91 100 %. i Wi Bt ;

wif¥eka 0.2 % T, 50 €. i W6 AL ;

TIferRaT 0.7 % E1Y, 10 &. St T B0t |

(i) S 1 AT A (pay off) T & ?

i) Shfge frsgsmeh safm @it @am & fag =

3T A ?
i) AF e et =R = S T ST

FeH u (y) = VY & @ wied Qe & forg <@ = et
HEAT M ?

6. fmafafea wig w fo=r wifsT

(0, 1) 3,2 (-13) (1,5
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() 1 EE 99 w3 % fAY 39 wte § o
TR SR (backward induction) ﬁﬁ'l"lﬁ
THd €2

(i) TUHIEH foral SwwleN winfag £2

(i) Waﬁ@%mwa@maﬁmaﬁﬁm

7. et et ST W RER SR frae
TS R I H R TEH ST o, U =
C,C, % ¥4 H 91 R waIfen 56% arafs T8 wenfim
S9¥i = 1 freiver & St @ o @ S d
ST ¥ - Y,=10,000 & 3R Y, = 5250 % afe wdEH
ST R, 9 37y 5% R ol o e ssm i 8
TR BT STHN = 1w

8. (a) TN SR BeR W o9 T WHEA ¥?
(b) e HITT = V(p,, py, Y)

Y
P, +2p,p, +p>

I ST B 2 AN SN & Y sfaq
FRON ¥ HifST
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10.

11.

12.

7ot e TR i HiT e W B
3 WY p=100-4q T THUSH H FA AW,
T S TR I T Her € SRS C=50+20q
¥ 2O UHTUHR ¥ S T8 T 1 Wger IR
1 Trerior ST 3 9T @) gerl ST A 9 SN
s TR ST T R ) feerf & 7€ @

frefofaa e W foEr Hife
y=f(x;a)=a2+x—ax231'b"fa>0§lﬁﬁ%l T

T 1 %ﬁmwwﬁ%fmaﬁml a5
a
TR ST IREHTH H We H ST 872

TTR! SIS HEH © 1
fxy xp) = 7. (x7, 29)* | ST T Bl I hifoTg
x (P Wy, Wy, @), x5(p, Wy, Wy a); amgfd weH

(P, Wy, W,, o) 3R &9 & w (P, Wy, W, o).

me(waiﬁ):

(@) U TE U Heor AR

(o) Tores STRaHIeRor T8 T STfehaHTe ol
THIUR

() SRt R T WS Y
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